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1.Koyck F’d4H(b2-ch7-1-new.R)

(download from http://kanggc.iptime.org/em/em.html)

library(dLagM)

library(AER)

sample1<—=("http://kanggc.iptime.org/book/data/ar.txt")
sample1_dat<-read.delim(sample1,header=T)

#samplel1_dat

sample1.ts<-ts(samplel_dat, start=c(1995,1), end=c(2001,1), frequency=4)
cons<-samplel.ts[,1]

gdp<-samplel.ts[,2]

lcons1<-cons[1:24]

lgdp1<-gdp[1:24]

fm.res <- ivreg(cons[2:25] ~ Icons1+gdp[2:25] | Iconsi+lgdp1)

summary(fm.res)

data(samplei_dat)
koyck.res<—koyckDIm(x = sample1_dat$gdp.,y = sample1_dat$consume)

summary(koyck.res)

lambda<-0.347
beta0<-0.2168
betal<-betaO*lambda
beta2<-beta0*lambda”2
beta3<-beta0*lambda”™3
beta4<-betal*lambda™4
beta0;betal;beta?2;beta3;betad

= koyck.res<-koyckDIm(x = samplel_datigdp,v = samplel_daticonzume)

= summary(koyck. res)

Call:
¥ ~ (Intercept) + Y.1 + X.t"

Restiduals:
Min
-6435.7

10 Median 3Q Max
-775.4 191.6 115%.% 3931.7

Coefficients:
Eztimate
(Intercept) 1.99Ze+04
Y.l 3.470e-01
X.t 2.168e-01

Signit.

std. Error t value Pri=|t]|)
7.180e+03 2.774 0.0114
2.105e-010 1.6849 0.1141
1.028e-01 2.110 0.0471
codes: 0 ‘===' Q0,001 **=' 0.01 =’ 0.0% ‘.’ 0.1 % ' 1
Residual standard error: 2144 on 21 degrees of Treedom
Multiple R-Squared: 0.7252, Adjusted R-squared: 0.69%9
wWald test: 24.15 on 2 and 21 DF, p-value: 3.399e-06

Diagnostic tests:
NULL

alpha heta
30497.44 0.2168204

ph1

Geometric coefficients: 0. 3469805

= betal; betal;betaz;beta3; betad
[1] 0.2168

[1] 0.0752296

[1] 0.02610467

[1] 0.009058321

[1] 0.003143237
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2.Almon FdWH(b2-ch7-2.R)
(download from http://kanggc.iptime.org/em/em.html)
library(dLagM) |
ibrary(dynim)

rm(list=Is())

sample1<—("http://kanggc.iptime.org/book/data/ar.txt")

samplel_dat<-read.delim(sample1,header=T)

samplel.ts<-ts(sample1_dat, start=c(1995,1), end=c(2001,1), frequency=4)
cons<-samplel.ts[,1]

gdp<-sample1.ts[,2]

lgdp1<-gdp[4:24]

lgdp2<-gdp[3:23]

lgdp3<-gdp[2:22]

lgdp4<-gdp[1:21]

summary(dynim(cons~L(gdp, 0:4)))

Call:
dynim(formula = cons ~ L{gdp, 0:4))

Residuals:
Min 10 Median 3q Max
-2992.0 -967.9 -256.1 794.8 36l18.7

Coefficients:

Estimate Std. Error t wvalue Pri=|t]|)
(Intercept) 3.241e+04 B.068e+03 4,017 00112
L{gdp, 0:4)0 5.670e-01 2.149=-01 2.639 0.01360
L{gdp, 0:4)1 -1.094e-01 3.599=-01 -0.304 O0.76536
L{gdp, 0:4)2 -2.122e-02 3.563e-01 -0.060 0.95331
L{gdp, 0:4)3 5.347e-02 3.693e-01 0.145 0.886381
L{gdp, 0:4)4 -1.858e-01 2.358e-01 -0.788 0.44296

Signif. codes: ©O f===' Q.001 ‘==' 0.01 *=' 0.05 “." 0.1 ° " 1

Residual standard error: 2122 on 15 degrees of freedom
Multiple R-squared: 0.766, Adjusted R-squared: 0.688
F-statistic: 9.821 on 5 and 15 DF, p-value: 0.0002356




2.Almon FHEWH (b2-ch7-2.R)

(download from http://kanggc.iptime.org/em/em.html)

(A%)

z1<-gdp[5:25]+lgdp1+lgdp2+lgdp3+Igdp4
z22<-lgdp1+2+lgdp2+3*Igdp3+4*Ilgdp4
23<-lgdp1+4*lgdp2+9+Igdp3+16+lgdp4
(summary(Im.res<-Im(cons[5:25]~z1+z2+z3)))
beta0<-Im.res$coeff[2]
betal<-Im.res$coeff[2]+Im.res$coeff[3]+Im.res$coeff[4]

2 3]+4xIm.res$coeff[4]

beta2<-Im.res$coeff[2]+2*Im.res$coeff

(2] ]
(2] (
(2] (
(2] (

]
beta3<-Im.res$coeff[2]+3*Im.res$coeff[3]+9*Im.res$coeff[4]
]

betad<-Im.res$coeff[2]+4*Im.res$coeff[3]+16xIm.res$coeff[4]
(coeff_fdI<—-rbind(Im.res$coeff[1],betal, betal, beta2, betal, beta4))

Call:
Tm{formula = cons[5:25] ~ z1 + z2 + z3)

Residuals:
Min 10 Median 30
-3198.0 -1205.6 -101.2 729.5

Max
4031.0

Coefficients:

Estimate 5td. Error t value Pr(=|t|)
(Intercept) 3.192e+04 7.705e+03 4,143 0.000681 =
z1 4.386e-01 1.257e-01 3.491 0.002799 =
z2 =3.777e-01 2.273e-01 -1.662 0.114871
z3 6.313e-02 5.721e-02 1.104 Q.285185

Signif.

codes: O f===' 0,001 ‘==" Q.01 “=' 0.05 ‘.’ 0.
Residual standard error: 2033 on 17 degrees of freedom
Multiple R-squared: 0.7566, Adjusted R-sgquared: 0

F-statistic: 17.62 on 3 and 17 DF, p-value: 1.844e-05

betal«<-Tm.resfcoeff[2]

betal«<-Tm.resfcoeff[2]+Im.resScoeff[3]+Im.resfcoeff[4]

betaZ«<-Tm.resfcoeff[2]+2=Im.resicoeff[3]+4=Tm.restcoeff[4]

beta3d«<-Tm.resfcoeff[2]+3=Im.resicoeff[3]+9=Im. resicoeff[4]

betad«<-Tm.resfcoeff[2]+4=Im. resicoeff[3]+16=Im.resScoeff[4]

(coeff_fdl<-rbind{Im.res5coeff[1],betad, betal, beta2, beta3, beta4))
(Intercept)

3.1592060e+04

4.386243e-01

1.240260e-01

-6.431342e-02

-1.2639%40e-01

-6.221560e-02

betal
betal
beta2
beta3
betad




2.Almon Y (b2-ch7-2.R)
(download from http://kangqgc.iptime.org/em/em.html)

(A%)

almon.res<—polyDIm(x = sample1_dat$gdp,y = sample1_dat$consume, q=4, k=2, show.beta=T)

summary(almon.res)

= almon.res<-polyDIm{x = samplel_dat%gdp,v = samplel_datfconsume, g=4, k=2, show.beta=T,
Estimatez and t-tests for beta coefficients:
E=timate Std. Error t value P{=|t]|)
beta.D 0.4390 0.1260 3.490 0.0028
beta.l 0.1240 0. 0608 2.040 0.0572
beta.2 -0.0643 0.1090 -0.589 0.5640
beta.3 -0.1260 0.0583 -2.170 0.0448
beta.4 -0.0622 0.1400 -0.445 0.6620
= summary(almon.res)

Call:
¥ ~ {(Intercept) + X.t"

Residuals:
Min 10 Median 30 Max
-3198.0 -1205.6 -101.2 729.5 4031.0

Coefficients:

Estimate 5td. Error t wvalue Priz=|t|)
(Intercept) 3.192e+04 7.705e+03 4,143 0.000681L ===
z.t0 4,.386e-01 1.257e-01 3.491 0.002799 ==
z.tl -3.777e-01 2.273e-01 -1.662 0.1145871
z.t2 6.313e-02 5.721e-02 1.104 0. 285185

Signif. codes: 0O “===' Q0,001 “*==' 0.01 **=' 0.05 *." O.
Residual standard error: 2033 on 17 degrees of freedom

Multiple R-squared: 0.7566, Adjusted R-squared: 0O
F-statistic: 17.62 on 3 and 17 DF, p-value: 1.844e-05




